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2. Use an HB 2.5 pencil. Any mistake in bubbling your ID number will cost you one grade point.
3. Use a good eraser. De not use the eraser attached to the pencil.
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and in the upper left corner of the znswer sheet.
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1 One factor of the expression 64 + (z — 3)? is:

(a) 2®—2¢+13
(b) 2” — 10z + 37
(c) z*—6x+37
(d) 2* —10z+13

(e) @*+ 6z + 37

9 Which one of the following statements is TRUE?

(a) The y-intercept of line 3z — 4y = —20 is —3.
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(b) The line 8y = —bz does not pass through the origin.

(c) The midpoint of (2a + 1, 2% — 1) and (1, 1) is {a,b).

(d) The slope of a horizontal line is undefined.

j —6) i th e line.
(e) The points (—2, 6), (8,0) and (18, 6) lie on the sam
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9 1f the distance between the center of the circle 52+ 4% -2y = 5 and the

vertex of the parabola x == —by® 4+ m is v/10, then m is equal to:

(a) +3
(b) £10
(c) =8
(d) =7

(e) +£5

422 — 9y? = 36, respectively, are:

(a) (0,£3), y==+

3
(b) (£2,0), y= :l:;;‘;a:

(©) (0,42), y= i%m
(@) (£3,0), ¥= :%z:

(e) (9,4), y= i%m

. The vertices and the equations of the asymptotes of the hyperbola
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5. The graph of the equation 1942 4+ 792 + T2 = 9y* + T2y represents:

(a) an ellipse with center (3,4)

(b) an ellipse with center (—3,—4)
(c) a hyperbola with center (—3,—4)
(d) a hyperbola with center (3,4)

(¢) a parabola with vertex (3,4)

6. The remainder is zero when P{z) = 2’ + 30z” + K is divided by z + 2,
then K is equal to:
(a) 248
(b) 28
(c) B8
(d) 78

(e) 8
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% 1 the discriminant of the guadratic equation
g+ dkz—5=¢

is 20 then k 1s equal to:

(a) lor — 3
(b) —1or?2
{¢) 1only

(d) —= 1 Ol'}.ly

() lor ——

o u
(r—2)2 r-—2

& The sum of the solutions of — 2 i8:

(2)

o &

(b)

LRI
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9. 1 g(z) =° — 1 and f (z) = Jz — 1, then the composition function go f
Uglz)=13"— . .
and the domain D) are gven by:

(2) (gofa)=5—2 D=(-00,00)

) (oo @ =a-2 D=L

(© (g0 Hle) ==, D=(-c0,0)

@) (g0 F)@) = Ve =2, D= (=00, ~VAUVZ )

(¢) (g0 i) =V2?~2 D=[1,c0)

10. If the line llea: 4 8y — 7 = 0 is perpendicular to the line passing through
: . 5

(1, —}Qm) and (—2,—5) then k is equal to
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11, If the graph of y = 0z% + 3z — 1 is translated 1 unit to the left and 3 units
o upward, then the equation of the new graph is:

(E'L). y:2$2—$-5
() y=22"+Tz+7

(C) y:2$2+6$—5

(d) y=2z"+35c—4

(e) y:2E2+3$+5

e) 30—t
b T T A IR
‘3 “‘}%“‘-f—;‘—':_"zﬂ-;-—"'":"/'“ X
_"3 1 ThRTEEE YT :“-‘_:_'"-




FROM © PREP-YEAR MATH PROG

FAe MO, @ BE9s638eE2973 Sep. 23 2062 18:@8ZPM P32
. e L A

| G138 002
Page 7of 13 Eg@__j

z—6

13. f 1 < = < 2 then W‘m"gl

\ is equal to:

14, Tf the shorter sides of a right triangle have lengths K and 2K + 2 and if
the hypotenuse has length K +8, then the value of 3K + 1 is equal to:




FROM : PREF-YEAR MATH PROG

‘ FAe MO, @ BE9s638eE2973 Sep. 23 2002 18:@5PM P2

1: B5P ,
Page 8 of 13 |CODE 002]  §

6 2 15\ .. )
15. The expression (.L —1- —) = (1 -+ - — —2) simplifies to:

X T x

@
Ol
@ T
@ 3

(e) m((;i 25))

3+24/2
16. The expyession L—J}/ﬁ/dﬁ is equal to:
() 1
(b) V&
V6
(€) 1— -
V6
@ &

(e) 6
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¥ 1 — i is & zero of ot T 4 1822 — 29z + A then AIs equal to:
17. — 1%

(a) —12

(b) 12

©) 13

(d) 0

() —713

. 2 .
18. One of the z-intercepts of the graph of the function f(z) = 3z" + Kz — 4
is 4. Then the second z-intercept is equal to:

(a) —4

(b) 11

(c) —11 S
1

@ -1



FROM @ PREP-YEARR MATH FROG

FARxA HO. @ BE9ee386H2979 Sep. 23 28982 18:88FM P11
Page 10 of 13 LCODE VU2

10, If a xock is thrown upward from the ground with an initial velocity of 48

feet, per second, the distance S in feet of the rock from the ground after 1
seconds is S = 48t — 16¢2. The maximum height the rock can reach 1s:

(a) 36 feet
(b) 24 feet
(c) 48 feet
(d) 16 feet

(e) 52 feet

20. If ¢ = 3 and b = -5 then —

(-3
(b—a)(#:il)

is equal to:

@) 15

() -5
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i \2
= | — then z + 2 =
21, f 2z = (1__1) )
1
(8 —3
(b) O
1
© 3
(d) 2
(e) —2

29. The solution set of the inequality 4r® + 722 > 2z, in interval notation, is:

() [~2, o} U G +oo>

1

o oozt o]

4
(C) (—o0, +00)

(d) (~o0,—2]U [0, +0a)

(e) [—2,01U [-—, +c>o)
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93 The domain D and the range R of the function y = |& + 2| —1 are glv

by:

(a) D =[0,400), B=I[L+0)

() D =[~2,+00), R=[1,+o)
(c) D= (—2,+c0), B= {1, +cc)
(d) D = (—o0,+00), R={-1,+c)

(e) D = (—o0,—~2)U (-2 too), R=({—oc0,—1]

94. Which one of the following pairs of functions are inverse of each other?

(a) flz)= 72— 2 glx)=vVz+2
(b) f(o) =37 glo)=VE

T —1
(@ fle)=——7; Q(CC)?:E

e

@ f@)=2—1 gla)=5e-1

(&) flz)=lzl; glz)= |z
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120 — 5l

: ; pia 2 T 21— 1 i equal tor
25. The sum of all solutions of the equation P

(a) 3

b ==

R

3
28
3

96. The domain D and the range R of the function f(z) = —
by:

VA =922
5 is given




